R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-864 Masonite ST Glazed (Trilennium)\C - Drawings\TX-4683.86.dwg, TX-4683

POWERED BYIﬁ

ENDURA

DOOR COMPONENTS MADE IN THE USA

Glazed Steel Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Steel Door system described herein complies with the 2018
Intemational Residential Code {IRC}, Sections R301 & Ré09 and the 2018
International Building Code {IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404
subject to the following conditions:

1.

2.

Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.
When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.
Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

Conditions not covered by this drawing are subject to further engineering
analysis, ' ‘

TABLE OF CONTENTS

SHEET# | DESCRIPTION

i Typical elevations, design pressures & general nofes

Door panel details

Horizontal & vertical cross sections

Vertical cross sections

W iN

Frame anchoring

~=— 37.5" MAX. O.A. FRAME WIDTH —

82" MAX. O.A. FRAME
HEIGHT (INSWING)

81.125" MAX. O.A.
FRAME HEIGHT (OUTSWING)

INSWING

OUTSWING

e Y

W

\mN

-

¢ )

Do 0 4

EZ o H

_5* a W

Bu Om [}

e Z Z

wy ah o
R

£ > 2

) 0 ® 3

° oo

< R TW o

2 459 @
25w @
0~ W
Zow &

-3 OR.. '

@ on e g
O XZ

o 0 L.
Z

g émg [¢]

a g6 2

£ Ba& g

a o o

w iS @

8

c

[ e;

E g

=3

O

o

[a]

CERTIFICATE OF REGISTRATION # F-—11852

0
=2
29
9
oF
N
5
& I
> | S
S D oy
v Bt
2 8
< Ex
= v 97
O aw
5 o %
o) ® o
© < o
o o
A
Y I
7]
aQ
o]
KO
O
3l
£ 1O]
clal »n
A e
v|® QO
Elo!l |0
SN IS
U_O (1% ]
SRl |z
Sl
<t
IR
215
<
(o3
NEE
Q <
N[
1o
z
oaTE: 11/16/16
scAate:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—-4683
SHEET 1 oF 5

© 2016 R.W. BUILDING DONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-864 Masonite ST Glazed (Trilennium)\C - Drawings\TX-4683.86.dwg, 2.7

STILE (LVL)

;
i

EXTERIOR

A\
W
y /-
7

o.81" -

INTERIOR

m HORIZONTAL CROSS SECTION

STILE (LVL)

LA -\

o tg oM NI

\2/

21" MAX.
D.L.O. WIDTH

1
= 6.5"

35.75" MAX.
PANEL WIDTH
D —
|
/
10 Va
2 N
5 5
L ol
x T
(%)
O
2 X |
o 0
> >
<< »}
P 3
O~
~
/
a
/
|
SEE HARDWARE
TABLE
@
DOOR PANEL
Masonite

Steel (Wood Edge)

DOOR SKIN: 25 GA. STEEL {0.020" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

12.75"O.C.

LOCK BLOCK
(WOOD: 12" LONG)
#6X1-1/2" )
PPH SMS - GLASS BITE 1/2
INTERIOR

0.81"

— 1/2" OVERALL GLASS THK.

1/8" TEMPERED GLASS
/

A\Y

NSRRI

EXTERIOR

STEEL SPACER

GLAZING DETAIL

#6 x 1-1/2" PPH SM$S

b

o

(TYP.)

325"
(TYP) —'J

ODL LITE FRAME

1

|
14— 0.57"

i 1.75"
&
]

Endura

Trilennium®3000 Serles
Muttipoint lock (3pt.)

Q'SO SEALANT
LOW TACK SEALANT

\ AIR SPACE
1/8" TEMPERED GLASS

TRILENNIUM
SERIES 3000 MULTIPOINT
LOCKING SYSTEM

TOP RAIL

11‘9

* 3103 o
Thnea™

a0t

rd

Lyndon F. Schmidt, P.E.

-y

(WOOD) ~_ |

25 GA. STEEL
SIDELITE SKIN

INTERIOR

7l

EXTERIOR

FOAM CORE

.

0.81"

BOTTOM RAIL
(WOOD COMP.)

—— 171" ——

7”2\ VERTICAL CROSS SECTION

\2/

TEXAS P.E. #104123

813.859.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Vvalrico FL. 33585
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By:

wn
=
=
]
< o
a4 TR |
) >l Wl
S |82
& = aQ
w
x
2 o
£ ol ]
O
a (@]
o &
o <€
o 0.
d B P
Y i
Ly
Q
o
JO
&
8l
N
oo j»
X z
o{®} 1O
58] 12
e
59| &
S
L <
IR
85
<
(o)}
NEE
Q <C
AN (a)
-1 lo
z
oaTE: 11/16,/16
scate:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4683

SHEET 2 oF 5

© zo1e R.W. BUILDING CONSULTANTS INC.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-864 Masonite ST Glazed (Trilennium\C - Drawings\TX-4683.86.dwg, 3.7

2X FRAMING

/(G >=0.42)

@@ 2X FRAMING 2X FRAMING 5
3/ (G >=0.42) / (G >=0.42) P
S— - ‘ — " ;:?‘.% ....c
b Y114 SN .5.-53..':
‘ ‘ o 307
/ EXT. SHEATHING ¥l 4 o \ EXT. SHEATHING b1 |4 - ~ g: ‘
. ¥ S ) L 0 U3
// L DRYWALL 1 e DRYWALL 90 3
/ # o T (?e\}) .,
/ ) ?*( .
/ 1 A ¢ 4 L I’
/ L #10X 2-1/2" PFH ! |~ #10X3"PFH
A L~ WOOD SCREW 11 L[ WOOD SCREW
174" MAX. 1 5 ) -
SHIM SPACE il o / -
(10 X ~J 2Ze ~—— 1/4' MAX.
6/ i sHE SHIM SPACE
1 = 00p050)
DOOR PANEL ~ f DOOR PANEL
y /// TRILENNIUM HEAD: PINE HEAD: "FusionFrame" {1-PIECE)
SERIES 3000 MULTIPOINT
/ LOCKING SYSTEM ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP
(QEBD/PE 650) (QEBD/PE 650)
\
COR(NT\!;!; ;’AD\S\ b q EXTERIOR \ INTERIOR EXTERIOR W INTERIOR
AN 3N 1N 2N fg\ VERTICAL CROSS SECTION /3" VERTICAL CROSS SECTION
Uiswing shown - Inswing Qutswing shown - inswin
\4 N4/ NENLY 3/ also approved \3/ also appgroved 9
0.15" )
1/4" MAX. ol e CSINK 1/4" MAX.
EXT.SHEATHING ~ SHIMSPACE (TYP.) SHIM SPACE EXT. SHEATHING
\ JAMB: "FusionFrame" /
11t 1% il ] OR 2'PlECE
0.75 ‘1*—i 0.75 "H] !—-—»]——- 0.75 \ JAMB: PINE ( \ )
p—— (e - - o v —————
e / . #10 X 2-1/2" PFH S SOTTTSY
------- #10 X 2-1/2" PFH
COMPOSITE 2X FRAMING WOOD SCREW WOOD SCREW
G >=0.42) /
N SNAP-ON (
CAP \ ENDURA WEATHERSTRIP  ENDURA WEATHERSTRIP
\ (QEBD/PE 650) (QEBD/PE 650)
. ~ EXTERIOR
3 ol EXTERIOR
M
=N
/ = LVL S z
0 r ey s T
#8 X 2-1/2" PFH WOOD SCREW MULEPOINT )
JAMB / HEAD JAMB/HEAD  JAMB £ HINGE MULIPOINT #10X 2-1/2" PFH
PINE "FusionFrame” "FusionFrame” #8 X 3/4" PEH SMS WOOD SCREW
(1-PIECE) (2-PIECE) /1 "\ HORIZONTAL CROSS SECTION

w Inswing shown - Outswing also approved

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FlL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF RECISTRATION # F—11852

4
3]
£E2
o
>
<
& B
> > n
S |19 =
& =l EQ
uz%
g S
<| NG
EE
2 ol T
o =
o <C
o [+
Al I
| B (o)

UPDATE TO 2018 IBC/IRC CODE

10/23/191ADD “FusionFrame” OPTION &

1

REVISIONS

L
<C
()
3
s
6

oaTE: 11/16/1

scALe: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4683

SHEET 3 oF 5

© 2016 R.W. BUILDING DONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI-- DR-864 Masonite ST Glazed (Trilennium)\C - Drawings\TX-4683.86.dwg, 4.7

A Y A\
INTERIOR EXTERIOR INTERIOR EXTERIOR NOUR
A
L DOOR PANEL DOOR PANEL WEATHERSTRIP
ENDURA (QEBD/PE 650)
DOOR SWEEP ENDURA \

(DBK-R) DOOR SWEEP

A/ QOO

// DOOR PANEL

K EXTERIOR

INTERIOR

ENDURA //
WEATHERSTRIP
(QEBD/PE 650)

INTERIOR EXTERIOR
iy

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR {TW CONCRETE SCREW

/ 2"\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

m VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

7“3\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW

/ 4\ VERTICAL CROSS SECTION

W Inswing Adjustable Threshold W Inswing Articulating Threshold

\U Outswing Bump Threshold

W Outswing Bump Threshold

Lyndon F. Schridt, P.E.
TEXAS P.E. #104123

813.659.9197

P.0. Box 230 Vairico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No.:

CERTIFICATE OF REGISTRATION # F-11852

ENDURA
VERTICAL CROSS SECTIONS

PRODUCT:

LFS | PART OR ASSEMBLY:

UPDATE TO 2018 IBC/IRC CODE

g -
1ls | . l l ] ! ! | |
! 456" | . 4.56 ! l 456" | 456" | , 456" |
1 INSWING ADJUSTABLE THRESHOLD INSWING ADJUSTABLE THRESHOLD 3 INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD
ZAlL4565 2 ZAM4565FN ZAILAA4565 ZAIAA4565FN ZAl4565RDS
! 4.56" ! ! 4.56" J_‘! 456" ! L—-————- A56" ____..__.J
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD
6 IACLA545 7 ZACA4565FN IACLAA4565 IACAA4565FN IAC4565RDS
i 4 = + =N
[ - [ Ty
~ ~ ~ -
! 1] i i 2
L 458" ! ! 454" [ ! 4.56" >! ! 4.56" |
11 OUTSWING THRESHOLD 12 OUTSWING THRESHOLD 13 QUTSWING THRESHOLD 14 OUTSWING THRESHOLD
LOB4565FN 1OBL4565 ZOB4565RDS FOB4566

10/23/19|ADD "FusionFrame” OPTION &

1

REVISIONS

e
<
a
o
Z
6

DATE: 11/16/1

scate:  N.T.S.

DWG. BY: JK

LFS

CHK. BY:

DRAWING NO.:

TX—4683

SHEET 4 oF 5

© 2016 R.W. BUILDING CONSULTANTS ING.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-864 Masonite ST Glazed (Trilennium)\C - Drawings\TX-4683.86.dwg, 5.7

_. HEAD ANCHORS: an
iz 2X FRAMING #10X 2-1/2 WOOD SCREW [PINE JAMB) 2% "
g9 i (BY OTHERS) #10 X 3' WOOD SCREW (1-PIECE JAMB) 2 o B
H £ n pad
~o a (TYP) W = d 8 m:;
2 ‘ ‘ 53 g Q & gz
T ¢ 23 88
] T l )l . > 53¢ %’%
SEE HINGE . — — . 2 po2 W
DETAIL 1 \\EET = § 8% g
o o > i ] Zm, OL
N = } g 3,5 o0
P> — il _ ) 2L l"_'!
™~ JAMB ANCHORS: & £ Bat gk
] #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) = 2 L§ o 2
= N #10 X 3" WOOD SCREW (1-PIECE JAMB) AN g g e
2 , E K B8
/EE B . 'E 8
SEE HINGE SEE STRIKE o
DETAIL 2 ) 5 B PLATE DETAIL |, o
(TYP.) , { 2
\ ] ZE B . | 8
i o
e — \:'\) O Lzu § <
! S i
- N B  E
e LL
SILL ANCHORS: 5 s
HINGE JAMB #10 X 2-1/2" PFH WOOD SCREW STRIKE JAMB 3 c
T 1/4" X 2-3/4" ELCO OR & 5
FLOOR SUBSTRATE MATERIAL FRAME ANCHORING ITW CONCRETE SCREW ”
CONCRETE [MIN. 3000 PS|) X 4

WOOD (G >= 0.42)

Ly

Q

O

6]

| ]

€

=y o

#10X 2-1/2" FH WS O @

f 42— muirron ©

STRIKE PLATE 5

JAMB NOTES: gt \
THE PINE OR "FusionFrame” 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMS. S
THE FusionFrame” 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. STRIKE PLATE DETAIL =
CONCRETE ANCHOR NOTES: 5

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints.

10/23/19|ADD "FusionFrame” OPTION &

REVISIONS

()
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to #8 X 2-1/2" PFH WS ) e
maintain the min. edge distance to mortar joints, additional concrete anchors % P #8 X 2-1/2" PFH WS &)
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. reme . 5 =
o Ll® i 11z
n - '«. ] ]|@
#8 X 1" PFH wsé:. ool = #8X 3/4" PFH WS #8 X 1" PFH wsé:': S~ #8 X 3/4" PFH WS owTE: 11/16/16
~— 4" X 4" HINGE ~— 4" X 4" HINGE SCALE: N.T.S.
; A\S \ owe. 8:  JK
’Tw " " " " W CHK. BY: LFS
rapcoN® | 1/ 1-3/4 -V g HINGE DETAIL 1 HINGE DETAIL 2 RAVNG 5
ELCO . . . . TX—4683
ULTRACON® 1/4 1-3/4 1 4 SHEET 5 oF 5

© zo16 R.W. BUIL.DING CONSULTANTS IND.




